EARAROBEEIERT — 2 N— IBISH —F

201559A7H (A) 7m)IIB3H

mﬁﬁ;—;ﬁ VITFL30FESESE B2 H7%—f% \ (Xf&] 7 \ (@l — | & (£) 15000 F&
[A&4£] 1 7% :2,600,000 ~ 23 :780,000 33 :520,000  ~ 43#&:312,000 @ 5 7 :208,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N o RS :36. -4-3- . — WRE (G
1157 Evy g —/N\— # 6 57_0m 1(3_6)7 ass 48 ! (i:Z) UADE‘%;/ﬂ "
LiFq>N=pr )= B:orhr/J3 A AKX
T R SEER -36. _0_q_ . — HigkE— (1)
sl TR/ IUT 4 4 Z 1(33/%9 2-2-1-1 | 421 2 (4239) T
LA 39K =—5— B:xXN/FrA 77— L4
SV T # 5 | KBS 1:37.1 7-8-8-9 |41.1| — 4 468 | BAREX (I1#)
2l 6 IR 0 ) o |BEE
LT —FAFAF =YL B:FLHL /IR EOHS
R . FiEL : -1-1- — KEHEE (1)
A - NESAITF S 6 2] 1.73{5_1 1-1-1-1 | 42.4 3 g) bl
LTI RTI4 8 BiF>T—FIIT« * 27— Rifis
— o6 | PIEFILE 1:37.2 13-13-8-5 | 41.0 | — 5 515 | EEF#= (KH)
sl 10 N7V 57.0 (3/4) 1) | X
L:ZZXHvR B:T7AE—b1— VAN ¢
= S5 o L ER+ :37. -12-12- . — AEBZE (15
s 5 F4—TRHEA > 4 6 o 1(73{:? 12-12-12-10| 41.1 7 422? L
L:v—NFAY>F— B:FZAPbxyR N 4505
: & o7 | RIEFD 1:37.6 10-10-8-5 | 41.6 | — | 12 | 458 |FBKLESE (1)
707]10| T=w K2 57.0 (1172 (o) |PLEE
Z:d—IK7Ya—Jb B:ZXHO TCER S
> = 4 o4 | KEEZ 1:37.9 11-9-5-4 |42.2| — 8 484 | RIFE (110&)
8lgli3 ¥FaVIAT7 K= 8.0 (1 1/2) (1) | EhmR
R:THAFUSv—Ib B:EavTotI BAT7— L
= i 5 | BEEX 1:38.0 9-10-13-11 [ 41.8 | — 13 | 511 | ARGEE (k)
9 3 TILA—7 55.0 (3/4) +3) REEH
LA TAT v — BN IFTITLR (B) HBEa-KL—-ra>aEI7
KHEfE— :39. —5-7- . - SRE— (IlE
10 2 TA—RTI 4 6 o 1(359)0 6-5-7-5 | 43.2 1 (4+926) e
R:27T— VAT T—h B:HTzAY RaliEe )
~ - ey . 1314~ _ B ()11ie5)
1lslg|7rEc7na4 it 4 e 1(/3%) 13-13-14-12| 42.5 9 z:g;@ /\"4}? )
L:Er/0704 B AINTINAF h-zcie]
¢ 4 o5 | AR 1:40.6 8-7-6-12 | 44.9| — 14 | 498 |RitE (1)
12/ 8|14| 7717 =N 55.0 ®) @) | ) FHR—LY—EZ
x4 agR—5— B:h=NILIYIL <Rl ]
< . — 4 LS 140. —5-11- . — BEHF— (&
a1l 1| 3HETIF5TF # 5 WL 1(410)8 5-5-11-14 | 45.0 10 (4_872) o
R:TFv0K—0 BNGIHAT BR&EH Ty RFv T - Tr—L
2 4 o7 | BIE 1:40.9 3-3-3-8 | 45.8| — 6 523 | EBH— (/1)
14l711| 7V =10 S 57.0 (7€) 0 |rFE—
R:T5y k- B:ORYITIY SRS
® 1—F—@EBIERL
13—+— |4,6,11,7,1,2,9,14,3,12,13,5,(8,10)
2a=5F= 4,6,11,7,(1,2),14,9,13,(3,12) ,5, (8,10)
== (4,6),(7,11),13,14,2,(9,10,12) ,1,5,3,8
AT =5F= (4,6),7,13,(2,10,12),11,9,5,3, (8,14) ,1
[ /N
B 7 310H 714K 6-7 320M e E 4-5 630 JEE 6-7-9 1,380
B B 7 140M 7-9 4104 e B 5-4 1,1108 3EE 7-6-9 6,040/
6 140 6-9 420M B & 6-7 670M
9 1809 B H 7-6 1,390

ABICOVWTRDTEEERROODE. TR LIV,




